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A =gt 34,487,786 36,452,595 A964,809
= 2,000,000
Al 32,487,786
HOIZ Meldlgt 2= 31,952,500 33,169,128 1,216,628
= 2,000,000
Al 29,952,500
=g K& 1,758,300 1,492,200 266,100
NA=HAH = 45,500 49,500 4,000
201 2egh=3| 2,000 4,500 A2,500
01 At2t2ltl 2,000 4,500 22,500
OXE=2tHA 2= 2,000
203 HE=H] 13,500 15,000 21,500
03 A= PR FAI| 13,500 15,000 1,500
OXEz=eMA 2= 13,500
308 AtAIEHMSOIE 30,000 30,000
18 SISt AS A 30,000 30,000
OHJl=Z Xcl 3% g2 30,000
Hols2AcIxtE 24 5,000 5,000 0
201 2= 5,000 5,000
2 S5=2g4l 5,000 5,000
0=32= # HAl 500
OX&EHIRAIHl S 4,500
HDIZ XMolAlE 28 FUZBANA 24 1,370,000 1,370,000
301 EtE NS 1,370,000 1,370,000
14 JIEt2 a3 1,370,000 1,370,000
O&=3 ZAHIIS MHEAIE FRZARS
2= 560,000
O Fd AUT2UEH FUZARE 2a= 374,000
O Al CIMOIZEEIZ FRUZARE 2o
3 436,000
HYIZXCIAE JIS28823 23 1,800 2,700 2900
201 er23| 1,800 2,700 2900
01 AtR2t2|HI 1,800 2,700 A900
OHDISH2IANE JI=284235 2Y 1,800
HFAALUIAME FEH0lE FAZHA 134,000 0 134,000
301 22N 134,000 134,000
14 JIEt2 8= 134,000 134,000
OXFH AATAHE F=HOS =0 H2
=R 134,000
HE=AISECIMOIZEEZ FHOE F2ALS N 202,000 202,000
301 EtE N = 202,000 202,000
14 DBt 2 a=S 202,000 202,000
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O& Al CIMOIZEEZ FH0E =21AHS
g 202,000
HIIZ XM2lAE 24 2Y 17,612,200 18,155,200 AB543,000
= 2,000,000
Al 15,612,200
HIOIZXMel AIdE 38 29 224,200 249,200 A25,000
201 et 3| 174,200 174,200 0
01 AtR2tc|Hl 70,200 70,200 0
OHJIZXel ANEd 858 29 70,200
2 S5=24g4l 104,000 104,000 0
OHJIZSXel ANEd 858 29 104,000
206 MH=Hl 50,000 75,000 /25,000
01 MZH| 50,000 75,000 A25,000
OHJI=ZXel ANEd 55 29 50,000
HYIEX2 RS2 1,300,000 1,202,000 98,000
308 AFAIEHMSOIE 1,300,000 1,202,000 98,000
07 HAHH 2R 52 1,300,000 1,202,000 98,000
Ollgd & 42y HIISEXMEREs 1,300,000
dd AU & 29 11,045,000 11,045,000 0
307 212+01& 11,045,000 11,045,000
05 2IZtAE = 11,045,000 11,045,000
O Fd ~2AUN2MHH 2 2E 11,045,000
A2 THAME IS 2 HIA 2EHE S 81,000 81,000
401 AlEHIZ 2018 81,000 81,000
01 Al&H| 81,000 81,000
OA2UXHAME A2 28| 81,000
=2 FAMY D] OHE & I A 1,168,000 840,000 328,000
401 AlZHIZ SO 1,168,000 840,000 328,000
01 A28l 1,168,000 840,000 328,000
O&F=a Z9Mg D] g X EHIA 840,000
(OFE=PAYNIE=t 328,000
ZYHIISMHSEUW S20H8 Y 23 FH| At 10,000 50,000 240,000
401 Al HIZL 01| 10,000 50,000 240,000
01 Al&HI 10,000 50,000 /40,000
OEZE WREZ HESF S 10,000
HIOIZ2 HMelAld sXi2el 200,000 200,000
401 AIEHIX R0 200,000 200,000
01 A28l 200,000 200,000
A2 FOEAAE RA2= 100,000
ONEE == 0ISEZ MHEE> 100,000
AEMe ] S 1,500,000 1,500,000 0
401 AlZHIZ S0 1,500,000 1,500,000
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01 Al&HI 1,500,000 1,500,000 0
OdEMY T S 1,500,000
d=d ZYHEd =2018 UM 2,000,000 2,000,000 0
= 2,000,000
401 Al HIZL 201 2,000,000 2,000,000 0
= 2,000,000
01 AlZ28| 2,000,000 2,000,000 0
Od=d ZYiigd =20l AL 2,000,000
= 2,000,000
CIMOIZEER HIIRESE M2ZAY 84,000 84,000
401 AIEHIX 20HH 84,000 84,000
01 AlZ2H| 84,000 84,000
SIS XA Jl2 & AA23
= 84,000
HOIZ WaE 29 2 12,582,000 13,521,728 A939,728
Ae=at Sl Alg2el 261,700 296,000 A34,300
201 el 231,700 246,000 214,300
01 At2telt] 181,700 171,000 10,700
O==ZHA =2 42,000
OgADI=2elid === 105,300
(O =g g=lal 5,000
O=dXl XMeldl 29,400
2 35284l 50,000 75,000 /25,000
oZcls St S 22,000
OZcls ANEZHI=AHl S 28,000
401 AlZHIZ S 0HbI 30,000 50,000 220,000
01 A28l 30,000 50,000 /20,000
SHSX AlE JHe 30,000
SASAdD] 22AE Xl 6,681,600 6,578,280 103,320
307 212+01™ 6,681,600 6,578,280 103,320
05 2IR”tRIE = 6,681,600 6,578,280 103,320
OSAlSAdd| eZASE XMl 6,681,600
QEHIIZE 22l & A2 1,675,200 1,686,000 10,800
201 er23 | 75,200 86,000 10,800
01 At2teltl 25,200 36,000 10,800
OolgHrIsdEs aAc & ANg2d 25,200
02 S3=gl 50,000 50,000 0
OUgHDI=sdEd 22l & AN22d 50,000
401 Al HIZ R 0HbI 1,600,000 1,600,000
01 AlZ28| 1,600,000 1,600,000
OUEHDISHES 22| & ANE2d 1,600,000
HessMeD| g Held] 3,482,100 2,141,448 1,340,652
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307 lztol & 3,482,100 2,141,448 1,340,652
05 2IMRIE =3 3,482,100 2,141,448 1,340,652
oNME=ssMe )| 2teE Xl 2,176,339
OHJIZXNE2FE= 5,000
OstJI2t DIHES Xlbls S 1,300,761
HFAl MESHH OAls 2 326,400 382,000 55,600
307 212+01& 326,400 382,000 55,600
05 2ItRIE = 326,400 382,000 55,600
OMEEJH A= 2¢ 326,400
JIZR0I== Uietel= oteiAltel & HE A 5,000 0 5,000
307 elztol & 5,000 5,000
02 2B YA E X 5,000 5,000
OUEI 2= OfHALIQN THAA 5,000
CIMOIZ2EEE SF LA 150,000 0 150,000
401 Al HIZ S 0HYI 150,000 150,000
01 AlZ2H| 150,000 150,000
AFHEAE HAIEHES 180,000
HY2AGH(XE =) 435,286 383,467 51,819
Jl=22HI(A&=E) 55,805 61,726 25,921
D2yl (&2t 56,805 61,726 A5,921
201 er2 3| 30,861 33,874 A3,013
01 AtR2t2|HI 30,861 33,874 A3,013
Odgt+=H| 17,010
o=gH| 13,851
202 04| 18,194 20,952 N2,758
01 =LHO LI 18,194 20,952 N2,758
OJl=gR=d0H| 18,194
203 HR=H] 6,750 6,900 A150
01 D[22 HRF2a| 2,970 3,300 A330
O =at=N=% 2,970
MU FAZSLIFAI 3,780 3,600 180
OFANEZHYE =AY
315,000& * 122 3,780
o2 (K& =&) 379,481 321,741 57,740
olHA2IHI(XrE=&1) 379,481 321,741 57,740
101 e124d| 379,481 321,741 57,740
01 &= 379,481 321,741 57,740
OAIRAZ 25 365,716
ozd2®+< 13,765
OUEHIISHEY 10,048
Q=LA AR 3,717
Hes (&) 2,100,000 1,900,000 200,000
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